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Guess Paper – 2009

Class – XII

Subject – CHEMISTRY   

Time: 90 minutes                                                                      M.M. 40   
General Instructions:

(1) All questions are Compulsory.

(2)The question paper consists of 15 questions divided in to four sections A, B, C&D

(3) Section A contains 2 questions of 1 mark each.

     Section B contains 5 questions of 2 marks each.

     Section C contains 6 questions of 3 marks each.


     Section D contains 2 questions of 5 marks each.

Section –A
1.  Explain what is observed ,When a beam of light is passed through a colloidal sol.
2. An ore sample of galena (PbS) is contaminated with zinc blende (ZnS). Name one    Chemical which can be used to concentrate galena selectively by froth floatation method.
Section –B
3. State Raoults law for a solution of volatile liquids .Give its mathematical relationship.
4. How does molar conductivity vary with concentration for weak electrolyte and for strong electrolyte? Give reasons for these variations.
5. Show that in a first order reaction time required for Completion 99.9% is 10 times of half –life (t1/2)of the reaction.

6. Describe van arkel method for refining Zirconium or titanium.

OR
Write down the reactions taking place in different zones in the Blast furnace during the extraction of iron.

7. Draw the shape of following of following: XeF2 and XeO3.
Section –C
8. a) What is understood by Linkage Isomerism.

     b) Using VBT Predict the Magnetic behaviour, Hybridization, Shape of following     
            [ Fe (CN)6]4-  OR  [ Fe F6]3-
9. Explain the following terms: (a) Dialysis (b) Electrophoresis (c) Coagulation 

10. The rate of most of the reactions quadruples when their temperature is raised from 293k to 313k. Calculate their activation energy.

11. Calculate the standard cell potentials of galvanic cell in which the following reactions take place:  2Cr(s) + 3Cd2+ ( 2Cr3+ + 3Cd(s)   EoCr3+/Cr= - 0.74V , EoCd2+/Cr= - 0.40V .

Determine ΔrG0  and  value of equilibrium constant for the reaction.
12.Two elements A & B form compounds having molecular formula AB2 & AB4. Whendissolved in 20g of C6H6, 1g AB2 lowers the freezing point by 2.3 & 1.0g AB4 lowers it by 1.3K.The molar depression constant for benzene is 5.1Kg mol-1. Calculate atomic mass A & B.

13.(a) What is the effect of Schottky defect and Frenkel defects on the density of crystals.

(b) Aluminium crystallises in a cubic close-packed structure. Its metallic radius is 125 pm.
 (i) What is the length of the side of the unit cell? (ii) How many unit cells are there in 1.00 cm3 of aluminium?
Section –D

14. Account for the following:

(a) Transition elements exhibit higher enthalpies of atomization.

(b) Transition element form generally coloured compounds
(c) Most of the transition metals and their compounds possess catalytic properties.

(ii)What is meant by ‘disproportionation’of an oxidation state? Give an example.

15. Account for the following:

(a) Nitrogen exists as diatomic molecule and phosphorus as P4.

(b) H2S is less acidic than H2Te.

(c)  Fluorine exhibit oxidation state of –1 only whereas other halogens exhibit +1, +3, +5, +7 oxidation states also.  

(d) Helium is used in diving apparatus.

(e)  HF has higher boiling point than HCl.
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